;;;4’@@’2-@* g

ity of Science and Technology of Chin

/O Check of LamLambar




) ¥OMzLLxE

University of Science and Technology of China

» Charged Tracks
* V. <10cm, |V,] <30cm
* |cosO| < 0.93

» PID (Use dedx+TOF)

* Proton: p > 0.5 GeV/c && PID:

Prob(p) > Prob(K/m)

* Pion: p < 0.5GeV/c && PID:
Prob(m) > Prob(K/p)

* nProton > 1; nPion>1

» A Reconstruction

* Primary and Secondary vertex fit

« Choose pr~ with least y2,,
.« L/o, > 20

° stec <15

*  |Mpg- — 1.1157| < 8 MeVic?

» Shower Selection

|cos@| < 0.8, E > 25MeV

0.86 < |[cosOB| < 0.92,E > 50MeV
0<TDC <14

Nshower > 2

* Oppgy = 10°

» 2C Kinematic fit

on the hypothesis of Anyy

75 < M, < 175 (MeV/c?)

A is from secondary vertex fit
Anti-neutron treated as a missing particle

Constrain M0 = M£°¢

PDG
Constrain M,, =M _o

Xiempie < 100
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» Charged Tracks

* V. <10cm, |V;] <£30cm
* |cosf| < 0.93

» PID (Use dedx+TOF)

* Proton: p > 0.5 GeV/c && PID:
Prob(p) > Prob(K/m)

* Pion: p < 0.5 GeV/c && PID:
Prob(mr) > Prob(K/p)

* nProton > 1; nPion > 1

> A Reconstruction

* Primary and Secondary vertex fit
« Choose p " with least y2,.

* L/o, >2.0

© Xl <15

*  |Myp+ —1.1157| < 0.008 (GeV/c?)

. M”w” < 1.15 GeV /c?

» Shower Selection

|cosf| < 0.8, E > 25MeV

0.86 < |[cosO| < 0.92,E > 50MeV
0<TDC <14

Nshower > 2

Angshower,ChgTrk = 10° (fOI‘ ﬁ = 200)

> 2C Kinematic fit

on hypothesis Anyy
75 < M, < 175 (MeV/c?)
A is from secondary vertex fit

Neutron is treated as a missing particle

Constrain M, ;o = MyP¢

PDG
Constrain M,, =M o

Xiempie < 60
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« mDIY MC to estimate normalization constant

« 1 sample =1 data (Generate 425w events), 50 samples

« Toy MC ZBBRM~5E, M50 EFAR L 10x dataZ 5
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Truth + Efficiency
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prtnmd prr~Am®
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Using mDIY ToyMC to E ¢ Mz L% S
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Calculate MC Integration

My pdf in likelihood fit:
- EEXMMento CarloF&EiMCIRS

PR a) = (Wi a)e) . EERHTERFHE N ERORF
¢t = [ dEW(E; a)e(d) A

o P55 HmITNPHSP MC
IS EFRREARIERIBENL 2%, XFR e h T EAE:

NTtoymMmc
1 W a) P R4 C3 ) W(§;; a)
C 1 _ fd€ W(f;a’) E(E)W(f; a ) =F W(f;a,) - NToyMC ; W(fi;a’)

* Nroymc: BHISHEKToy MCET EHIiFiEEHEFIH
- W: BntHhikie, §&: BEIFE, o : Toy MCHIBHEDHSH
« a: BAPHIRIERENSH



